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Sixth Semester B.Com. Degree Examination,
September/October 2021

(CBCS Scheme)
Commerce - Accounting and Taxation
Paper AC 6.6 - COST MANAGEMENT

Time : 3 Hours] [Max. Marks : 70

Instructions to Candidates : Answer should be written completely either in English
or in Kannada.

SECTION - A/ 92590 - &

Answer any FIVE sub-questions from the following. Each carries 2 marks :
(5 x2=10)

WR)THTL BB FBAV euId2. 3080068, 2 BoBH :

1. (a) What do you mean by Cost reduction?
523, 3R3 H0wTeRd?

(b) Define Marginal Costing.
©0uT Srzan 3T, 3,209, M.

(c) What is cost pool?
5%, For BT DoWTeRO?

(d) What is meant by cash budget?
SRwd Swona@ =3, Hordesy?

(e) Calculate B.E.P. (in units)
Fixed Cost - ¥ 2,00,000
Variable cost — ¥ 10/unit
Selling price — ¥ 20/unit
0.9.2. 00T, ToB) HBODO (cdrederndd)
30 &8 - % 2,00,000
WROIITH m{’— T 10/ adoedestr
SR0¢3 B0 - T 20/ aboedes
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() Mention any four types of functional budgets.
Q50 TTWTH Toew), F0DF B0 Jwonad I rids) B0

(g0 What do you mean by budget?
©0LF 0d D3, 0BTERO?

SECTION - B/2wen - @

Answer any THREE of the following. Each question carries 6 marks : (3 x 6 = 18)

0ARHTESR BA0) FBNCH U302, T3 FOINT GVITE, 6 VOB :

Write the advantages of Budgetary Control.

es0b 0 D03 BRIBLONYR), WSOND.

Mention the assumptions of Marginal Costing.

©0T SR T NeBNYD), BIDA.

If, fixed cost are ¥ 1,00,000

Variable Cost are 75% of Sales.

(a) Calculate BEP.

(b) Calculate Revised BEP if fixed cost increased by 10%.

(c) Ascertain revised BEP if variable cost decreased by 15%.

%0 $3 ¥ 1,00,000

) 5]

BOT msu:uaoaéscj de. 750K), 86T,

(a) ;‘Jm?gas DoBOI®), Bory LBV

(b) )’amd ;stuée. IOUT’a)dﬁmﬁmrT, 2OFD/AT ﬁ;ﬁo?%a DoTOIB), g0y HBOD.

() Be 158x) wowms SuiD) 3BBo0dRmen, SOZDAT 3‘3&?.33 DOBOTT), ToBO HROWD.
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Standard time and rate of manufacturing one unit of component A are
Std. Rate -¥ 4

Std. Time — 15 hrs/unit

Actual production — 1000 units

Actual hours — 15300 hrs

Actual rate - ¥ 3.8

From the above information, calculate :

(a) Labour cost variance

(b) Labour rate variance

(c) Labour efficiency variance

20 BRITEY, 3adRdRen AFFDOB B30k Fane AFFOS Borieh behss :
WPFO3 B3 -T 4

APED3 3300 — 15 noed/ cdedesrt

8% ovzns — 1000 odoedes e

&2 ZZoad — 15300 adedesrieh

808 -3 3.8

B0edT Bé300T , B FINTI)NYR), ToBO LBOVD :

(a) Sowed Iy Iz

(b) Sozed BT JF

() Rowed Bgs 3,3

P Ltd. manufactures two products A and B. Product ‘A’ is produced in 4 runs of
125 units and Product ‘B’ in 5 runs of 100 units. Each product consumes equal
direct materials and direct labour content. The details are :

Product overheads - ¥ 18,000

Set-up cost — ¥ 9,000
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Product inspection cost - ¥ 4,500
Material movement cost - ¥ 4,500

Total cost incurred for producing 500 units of ‘A’ and 500 units of B’ are as

under :

Direct material — ¥ 15,000
Direct labour — ¥ 4,000
Production O.H - % 20,000

Calculate product wise cost under Activity Based Costing Method.

& B30IV A F03) B 202 S0R IWependR), evsddd. ‘A’ SmgFSE) word H03F,
125 oledersod 4 ®o3rdd mone B’ Iweprady womy 033 100 obwedersed S
B03ndd PR, I8 Swegrsy) 30 FTPTZN Fev TN, 3 Fed BPDAbT), WIBIU

930 DIONYO LeNss :

Ioged Soeew S - 18,000

odbos, m@ﬁa’ dzsu— ¥ 9,000

IPF TR msu— 4,500

RIONNYR) IwegF BTN 398, WIRT B - T 4,500

500 odhedes® ‘A’ 33) 500 0doedesr® B’ Smepr3n), 30indaen 3rod wel), 5%
ded mdR - T 15,000

®eg 808 - T 4,000

emaaadai Jeen ;stu— ¥ 20,000

BB 80 DR B F5e0 IRFS ST, ToR HRBOWD.

=
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SECTION ~ C/ %0 - %

Answer any THREE of the following. Each question carries 14 marks :
(3 x 14 = 42)
odroz)mewte Sued 33Nt evgdr. 33adeond 381 14 vozrieh :

Year Total Sales Total Cost
2015 $1,00,000 T70,000
2016 T 1,50,000 % 1,00,000

From the above information, calculate the following :
(@) P/V ratio

(b) Fixed cost

(c) Variable cost for 2015 and 2016

(d) BEP

(e) Sales required to earn a profit of ¥ 10,000

(f) Margin of safety for the year 2015 and 2016

I3F W), Snoeks ué.igjdzsu

2015 % 1,00,000 % 70,000
2016 <% 1,50,000 <% 1,00,000

Boee) BL300 B&3000T, FYTOEF)NIB), FoBO HBOWD :
(a) ey Svses IDIR

(b)

pee

(8] ;3%%

(€) wBeRnS 33,2015 S3) 2016 IBFT,
(d)  RS038 Do

(e) T 10,000 ooy ri¥zen evarad S0ets

()  geso 08 2015 03y 2016 IR,
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Prepare cash budget from the following for the period of Apr. to June 2016.

Month Sales Purchases Wages

Feb ¥2,20,000 ¥1,65,000 ¥ 11,000
March ¥1,95,000 ¥1,48,000 ¥ 12,500
Apr ¥ 1,55,000 ¥1,35,000 < 14,000
May ¥1,94,000 ¥1,48,000 ¥ 13,000
June ¥1,75,000 ¥1,26,000 ¥ 13,500

Other information :

(@)

(b)

()
(d)

(e)

50% of Sales realized in the month following and remaining 50% in the
second month following.

10% of purchases is on cash basis. Creditors are paid in the month
following.

Wages are paid in the same month.
Income tax to be paid in the month of Apr. ¥ 12,000.
Cash in hand on 1st Apr. 2016 was ¥ 28,000.

gt 83003 Inbdo0d FNRBL Fwond B[, DT weE® 20160301 30iRd2 :

3orig enlertX] 20ed 39
FuId  T2,20,000 ¥ 1,65,000 T 11,000
Sw'e ¥ 1,95,000 ¥ 1,48,000 ¥ 12,500
2ye* T 1,55,000 ¥ 1,35,000 T 14,000
Soe ¥1,94,000 ¥ 1,48,000 T 13,000
we® ¥ 1,75,000 ¥1,26,000 T 13,500

W30 SIS :

(2)

(b)

()
(d)

(e)

50%0), IR0k 20@> on9BE, Tand Br3n Fee VIR 50%0R), POk
0BIe 3onIBA IR B3,

10‘Vot:3e.-f.igs DBedoIL VRGO DDEBAIPNTCLHZT Torie HBOTITON 0w Sorie ®3pobd.
mdszmrbgd.

Bed0dmy, 3B Sonvd) SeBennIZe
swaad 301t T 12,00038), 2 3on939 me=8 SeBuesaNtHZT.

3,00 3w T 28,000 vae* 1, 20168050,
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AB Ltd. has prepared its budget @ 6000 units capacity.
Raw material - ¥ 32,000 (100% variable)

Direct wages — ¥ 20,000 (100% variable)

Direct exp. — ¥ 12,000 (100% variable)

Repairs and Maintenance - ¥ 6,000 (40% variable)
Administration O.H - ¥ 8,000 (70% variable)

Insurance - ¥ 3,000 (100% fixed)

Depreciation ¥ 5,000 (100% fixed)

Advertising and Distribution exp - I 4,000 (50% variable)

From the above information, calculate unit cost of production @ 9000 units and
12000 units. | |

2.0, ST 6000 0HEVEFTY Borez) JBiEy BYTOB0S :
B2 MR - T 32,000 (Be. 1008 wBenrs $u)

Se3 8,08 - T 20,000 (3¢.1008 wEeoriyss Hu)

Sed dur — T 12,000 (3e.1008 wreRrda Hi)

B08Y R0 ABFB - T 6,000 (Se. 40 WBGNT S

@93 353 - T 8,000 (Be. 70 wBwROS S3)

23 - 3,000 (. 100 33 33)

3389 T 5,000 (Se. 100 30 3)

250%e0030 03 IV — X 4,000 (Be. 50 wBwrLS ;Saﬂ

S0edT Sedbdaor, 9000 03y 12000 0Ny svsBTe 25?5856% 38 adeest Fory

&B0D.
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10. The budgeted overheads and cost driver volumes of P.M Ltd are as follows :

Cost Pool Budgeted Cost driver Budgeted
overheads volumes

(@) Material purchased ¥ 9,00,000 No of orders 3000
(b) Material handling ¥ 4,00,000 No of movements 1000
(c) Set-up ¥ 3,00,000 No of set ups 600
(d) Maintenance ¥ 10,00,000 Maintenance hours 10000
(e} Quality control T 2,00,000 No of inspections 1000
(ff Machinery ¥ 10,00,000 No of machine hours 20,000

The company has produced a batch of 3000 components of AB-30. Its material
cost is ¥ 1,50,000 and direct labour cost ¥ 3,00,000. The usage activities of the
said batch are as follows :

Machine hours - 2500
Material orders — 30
Material movements — 15
Set-ups - 30
Maintenance hours - 500
No of inspections - 30

' "Calculate :
(a) Cost driver rates

(b) Ascertain total cost of producing AB-30 product using Activity based
costing.

£.220. OEE'T VT INRBLINTCLS Bdeen Hif T3 15907 FOSe S FYTE0I

3w sor@ s 0w SRTBERT 51, 1OT S, VOWTL BRELRT
Eilemnt]
(b) RoN ASFLTOIIE T 4,000,000 =owdmab 309.‘;5ﬁvéo 1000
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(c) 0303 TS T 3,00,000 003 IS Foakrieh 600
(Set-ups)

(d) =oogs 2 10,00,000 R00FEAL rotsnid 10000

(e) roesbes dodosgmn I 2,00,000 9N B0rieb 1000

@ obogricd T 10,00,000 SHUBIN Notins 20,000

gomdodn womd wIPodbd 3000 AB-30 a’maqir:iai& 3000028, A@T  TEON, szsw
T 1,50,000 303) 809 e X 3,00,000.
wﬁa&meﬁﬁqﬁé\gj WBEDTLIENY I FYTorwosdr ;
odbod e noedrieh - 2500

[0R, DD ua!@-— 30

BSof), B0woHBNRY s‘oa% - 15

m@ﬁa (Set-ups) - 30

d3FdH noesngd — 500

Jegs - 30

20edT SPH0VOT :

(a) ;stuzsaos dﬁ:ﬁd&&&m

(b) AB-30 suegF 30d»0F0LIT 2., mSu;Sdgt WeDTEIF 30 DWOF APEDord Ford
&RBOWD.

The information regarding composition and weekly wage rates of labour force
engaged on a job scheduled to be completed in 30 weeks are as under :

Standard Actual

Type of Labour No.of  Weekly No.of  Weekly
workers wage rate workers wage rate

Skilled 75 60 70 70
Semi-skilled 45 40 30 50
Unskilled 60 30 80 20

The work completed in 32 weeks. Calculate the following :
(a) Labour cost variance

(b) Labour rate variance

(c) Labour efficiency variance

(d) Labour mix variance
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30 Zeondd IuN0INS 20w FORE T0E 5RO SI) HITNYL B FYToB0IT :

TB 033
Faniefa {8}
BRONY ::’oa% 000 3R  TRONY 309.‘;5 5201 53R
©o ©o
@5%6 FSDETOO 75 60 70 70
ed—ﬁaée%d FOETT 45 40 30 50
6’06% T&3 5aOFT00 60 30 80 20

303 32 To0NYE, ZnNINIT 8 FUNRYNRY, Fo@> LBOWD :
() owed B3 333
(b) Rowed B0 IT3

() D2ed BYE Z:3

(d)  Boued B FF
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